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TA7 7~ PRI FAEBRET 22y [13F .
SAET =@ L t =4cm 6. 20%4. 00= 24.
ERUEDEDI FABRIET A2y |13F o
FEL t =4cm 2. 30%4, 00%2= 18.
ERUEDEDI B 40mm A T n2
= kA T t =11cm 2. 00%4. 00%2= 16.
EEWRE T B+ SE ANTJ n3
BUE LT |l - PRIETREE L RS 0. 32+0. 33+0. 32=0. 97 1.
=N AR P 3
A THEE L t =15cm 2. 00%4. 00%2=16. 00 * 0. 15=2. 40 2.
AT m2
AR EERIZ-0 T t =3cm 24,
NT7 W=30. Ocm 9
e EEii>0 T t =3cm 0. 30%4, 40%2= 2.
FHA (CO%EY) 1.00 +2. 40+ 0.82 = m3 A,
27— Fh n
B LI t =15cm 4.4 + 4.4 = 8.
AL EL T B o L=11. Okn m3 5.
T CoRE M L=11. Okm m3 0.
AR T AR5 FEE Lk R ~w—t AL NEILF I H 1)
PRI T Wrm e T t =4cm, 0. 1m3LL k- 6.2 m2
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T fl il bl A B LG
BRAH Y L |8 - 1A - PR WC=60%LL T 3
BRHAEMT| =27 U—h 21-8-25BB 0.9
B P m2 12.0
Bk 5 SD295a D10 t 0. 04
— et aE t=3.2 12.1%4.52 = K
I3 SRR G $60.5 ¢ o4. 1
S — REIAL il 46
Z D, t
BRAHCoPEFE 3.37%2.50 = 8.4
A7 Co PE JE 0.82%2.35 = t 1.9
% T
BT B IR Hhm2 18.0
+ o 5k 0.5 % 2.8 = m2 1.4
KEET L0 5 $55) m2 2.6
e 300 B n
ARV ZFLUE 12.0
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Bk SD295a
LSizesl D10 (3. 60 0.8 ) X 4 0.560 ke/m  / 1, 000 0.010 t
oA SD295a
ESizesl D10 (2. 60 0.40 ) X 16 0.560 ke/m  / 1, 000 0.027 t
Bt A SD295a
ESizesl D10 1.80 X 4 0.560 ke/m  / 1, 000 0.004 t
&t 0.041 t
B 27U — 0.068 X 4 0.27 m3
BT P 0.90 X 4 3.60 m2
BitHar s ) — b 0.081 X 4 0.32 m3
Bk A 0. 58 X 4 2.32 m2
e 7 U — k 0.022 X 16 0.35 m3
PR AR A 0. 38 X 16 6.08 m2
B 0.94 m3
&t A P 12.00 m2
— R e AR 9 60.5 6.05 X 2 12.1 m
27 U — hEIHL 2 X 20 3 X 2 46 fL
RAR t =4cm
T AT 7 MTER | EBRE |7 23 13F 6.20 X 4.00 24.8 m2
ERVEN 2771 | t=4cm
T AT 7 MTER | EBRE |7 23 13F 2.30 X 4.00 2 18.4 m2
t=11cm
AT bt [40mmPl T 2.00 X 4,00 2 16.0 m2
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WOR & i B L B & B R
BUAERUE L H=0.75 | A/ 0. 30 X 0.35 0.75 4 .32 m3
W AEEGE L H=0.52 | AJJ 0. 20 X 0.20 0.52 16 .33 m3
BAEHEEEEL H=0.60 |A /) 0. 08 X 4 .32 m3
=7 ) — |k
A T H=0. 15 |#éhk 2. 00 X 4,00 2 0.15 .40 m3
kb7 U — k
I LE .37 m3
RS 6. 20 X 4.00 = 24.80 m2
oy 7 ) —hiEHoh T NS 24. 8 X 0.03 = 0. 744 .74 m3
0.30 X  4.40 2 = 2.64 m2
6 5 R s B L ANS) 2. 64 X 0.03 = 0.079 .08 m3
M7 U — |
I L gt .82 m3
ComxiE i Hih .37 m3
Cork ik A7 .82 m3
BRAECoLLy & .37 m3
A7 Co LSy B .82 m3




